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QUESTION 1

A customer has decided to deploy Red Hat OpenShift on a FlexPod solution, based in a published Cisco Validated
Design. The customer intends to use the NetApp Trident to attach persistent storage to the customer\\'s containers from
the customer\\'s NetApp AFF controllers.

In this scenario, which two storage protocols are supported? (Choose two.)

A.iSCSI

B. FC

C.NFS

D. SMB

Correct Answer: BC

QUESTION 2

A customer is verifying that they have separation on their FC switch fabric to protect their FlexPod solution from their
other storage devices.

Which two technologies enable the customer to accomplish this task? (Choose two.)
A. WWPN zoning

B. VASN

C. IQN igroup

D. VLAN

Correct Answer:. AD

QUESTION 3

You have designed a FlexPod configuration with VXLAN configured on Cisco Nexus 9000 Series switches operating in
NX-OS mode.

Which two statements are true in this scenario? (Choose two.)
A. VXLAN segments are independent of the underlying network topology
B. VXLAN is supported only on Cisco MDS 9000 Series switches

C. VXLAN supports the Spanning Tree Protocol for loop prevention
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D. VXLAN is a Layer 2 overlay scheme over a Layer 3 network

Correct Answer: CD

QUESTION 4

In which two sources would you verify scale out maximums for NetApp and Cisco UCS environments? (Choose two.)
A. Cisco Configurations Limits

B. Cisco UCS Hardware and Software Compatibility List

C. NetApp Hardware Universe

D. NetApp Interoperability Matrix

Correct Answer: BD

QUESTION 5

A customer wants to upgrade their current VMware vSphere 6.5 environment to vSphere 7.x.
Where would you go to determine which Cisco UCS configurations support this goal?

A. Cisco UCS Hardware and Software Compatibility List

B. NetApp Active 1Q

C. NetApp Product Documentation Guides and Resources

D. FlexPod.com website

Correct Answer: A
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